Homework 11

Chapter15.6. :23

23. If we project the surface onto the xz —plane, then the surface lies ‘above’” the disk x +z < 25 in
the xz —plane.

2 2 . .
We have y=f(x,z)=x +z and, adapting Formula 2, the area of the surface is

45= |/ \/Lﬁr(x,z)]z+[f:(x,z)]2 +1da= || Va1 d

2 2 2 2
x4z <25 X +z <25

Converting to polar coordinates x=rcos 8 , z=rsind we have
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IfDl .D_ ,and D, are the projections of £ on the xy —, yz —, and xz —planes, then

D, = {(x,2)|0<x<1,0< < 2-2x) ={(x,2)[0< < 2,0< x< (2-2)/2)

Therefore
E = {(xy,2)|0<x< 1.2x< y< 2,0< < y-2x}
= {(x,y,2)|0<y<2,0<x</2,0< =< y-2x}
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